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1 }l\nswer the following as directed :
(any ten) | 1x10=10

| P e Tz St ¢ (R )

(a) Shareholders Wealth in a firm is
represented by :

ﬁ%ﬁM@WWWWWWz

(i) the number of people employed in
a firm

w— ﬁm”-@l W RSN
(ii) “the book Value of the firm’s assets

(iii) the amount of salary paid to its
employees

.WWWwWwﬁma

r (i) the market price per share of a
firm’s common stock

ﬁmmmw%zrﬁ%wwww

(Choose the correct alternative)

(%% Rescor 9 Cyiks))
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(b) NPV stands for:

NPV (¥ 3pI¥ 8

(i) net profitability value
oS SS9 o7

(i) net present value

S TS TN T
| (1) net purchase value

(iv) None of the above

89T OIS | |
(Choose the correct alternative)
- (um ReEcs I Sed)
(c) Capital budgeting deals with :

JFAL] ACSOI GO TG 2

(i) cash management
w5 ARG

(i1) management of working capital
JAFA JoT AR

(iti) managing fixed assets
BT AIfeq Ao

(iv)  None of the above
@5FT B8 T

(Choose the correct altermative)

(&% RTE0 S Ss)
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| (d) Cost of preference share is:

waifaRTye o olgq A ¢
(i) treated for tax

TR AR [eva =0 =

- (i) not treated for tax

T A [eawAl a1 727 |
(i) only occasionally treated for tax
- fouRIE wE A R ==
‘(iv) None of the above

89[F] I8 T

(Choose the correct alternative)

(% [eecor A5 Blersd)

(e) Internal rate of return is the discount
rate, at which

Sl TR 9 T 150 27, T
(i) NPV > 0.

(i) NPV < 0

(i) NPV = 0 |
(iv) None of the above

89T qBle T

(Choose the correct alternative)

(8% [Fse) s Bleed)
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(f) Dividend yield is computed as:
AepIeN ToAIE FIRIe (IR Soiea [
2

(1) dividend per share divided by the
market price per share

| w\ﬁaﬁﬂ\ﬂﬁw\ﬁﬁ%ww
7Rl e

(ii) dividend per share d1v1ded by face
value per share

el o GBS e R SR EECR IS
(face value) @4l Teee

(i) total profit divided by EPS
3 Fres EPS 99Nl e

(iv) total profit divided by number of
- shares outstanding

I AT el (@) Sgeiofg
WY B[ [Kere

(Choose ‘the correct alternative)

(%% [ReEcor afe ©fersdn)
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(g) Capitalisation of profit process
involves 1ssuing

SeR YT efers) —— Rferer ?ﬂr Givs |
(i) bond dividend

TG TOJIH
(ii) cash divide.rid
9 TR |
(iti) stock dividend
S STepieH
(iv) property dividend
TS oo
(Choose the correct alternative)
(%% [Resr A @7%637)
(h) Stable dividend means :
AZR TSP W 2T ¢
() constant dividend per share
| AT SI*g 31 wropion

(i) constant dividend payout ratio
oS ST eI Seite
(i) Both (i) and (ij)
(i) A= (ii) GG
(iv) None of the above -
89T OIS Ty

~ (Choose the correct alternative )

(% [sicr s Tferedn)
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(i) The overall cost of capital is also
known as:

Tolef JETE AT S GBI A 2 ¢
(i) marginal cost of capital
- EES i R

(i) variable cost of capital

TG AR o1 T

iii) weighted cost of capital

TS OiRYe

(iv) specific cost of capital

T[S 3
(Choose the correct alternative)
(&% [Fseo! A Slersal)
() When ___ is greater than zéro, the

project be accepted
(Fill in the blank)

@A —— T TleT T, G A
R =t | (T T AR )
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According to traditional approach
(k) Q;Cc(;ﬁltglg is affected by

(Fill in the blank,

AAANS AGS S ST am —

T4 geifde = | (2] Gl e g,

: ‘ onot involve zp.,

et e (Fill in the blan,
4i¥ I TAGH @A —— Giew 79707

C()f')t

(T B o7 =)

-(m) Investment decision is a part of _

decision. (FUl in the blank)
Rl Frare —— Srares 51 o

(T BT o499 790)

(n) A finance managér i1s accountable for

ﬂWé@ﬂ"fﬁW*QWﬁW@l

() earning capital assets of the
company .
(TR o6 Foifs Bofrey

(i) effective management of a fund

(i) arrangement of financial
resources

e o arm
(tv) proper utilization of fund
(Choose the correct alternative )

(8% RBsehy /5 Bfvear)
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(o) Write whether the following statements
are true or false.

wee [ wa @ siwa =

(i) The profitability index or benefit-
cost ratio is the relation between
the present value of future net
cash flow and the initial cash

outlay.
SR AR oF© T LF9 IR T
ARET 5% REEAPR T>i$ Ta1 &S
ST e ((H.91R) 9 Te<[T Sgeire
(R.BO=R) |

(i) The net working capital is the
excess of current assets over
current liabilities.
%o Il 6 HleTe Y e biete (A
eoRfR BieTe e AR |

(iii) When the company pay dividend
in the form. of bond, it is called
property dividend.

EINE AT I8 T o™
o, cofonl O T>ifg FTeni @G |

(iv) When profitability index exceeds
one, the proposal is rejected.

c@feq profitability index @I
@IS T, (Sfon] T g4 ]I |
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9. Answer any five of the following question,
in about 50 words each : 2x5=1q

woTd [AEPITA P! PR ATOIRCI S €OB! i xperg
fooge Teq ol 8

(a) -State the advisory functions f
financial management.

6 “AfpleTee SAERE I Trme 5|
(b) State the meaning of EPS.
EPS 3 9¥ Grziy 3 |

(¢c) How is average collection period
computed ?

NC ST P (A o] 9] 57 2

(d) What is the meaning of internal rate of
return ?

SIejasld STe oeT 5 &e
(e} What is pay-back period ?
RiNcar siRenf wm &

(f) State the use of credit policy in the
context of working capital.
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(g What is stock dividend ?

3T TN e

(h). State the objectives of wealth
maximisation.

T (A0 S e 91 |
() What is trading on equity ?
IS IR e e
() What 1s receivables management ?
o=y AAfREE e
3. Answer any four quéstions of the
following in about 150 words each : :
Sx4=20

S [l bifeb! 2NF ACOR i 150 51 X<
fooge Tes 1 8

(a) Why wealth maximisation is more
viable goal of finance function?
Explain.

T FEEEaE e e Fn wifss sy
T T2 IR
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(b) Explain the factors d‘etermining the
capital structure.

TR Mo IR Btz w4y =

() Mention the different ty
decisions and examin
relationship.

Pes of financiy,
¢ their Mmutyg]

, %Wﬁ@ﬂﬁm%ﬁwm
RER AT 7% i

(d) State the manner of computation of
‘the cost of equity and debt capital.

TR (RZHB W A e qw R
Tafs Trar 41 |

(e) Distinguish between financial leverage
and operating leverage.

circumstances which
warrants issue of bonus shares.

U = T
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(g9 What are the adverse effects of

excessive working capital in a firm ?

W@WW@WWWW
eﬁaﬁw

(h) Ganesh Ltd. expects its cost of goods

' sold . for the year 2017-18 to be

Rs. 500 lakhs. The éxpected 'operating

cycle 1s 90 days. It wants to keep a

minimum cash .balan(-:e of Rs. 1.5

" lakhs. What is the expected working

" capital requirement? Assume a year
consists of 360 days. B

ekl FRCHTET 2017-18 < AW Rl
o B9l T TA Rs. 500 AR FSR
ARG 5@ 21 90 W1 Rs. 1.5 & T4
OSENE - AR [eal WEw dm &)
(SSET AT IS AT AR
R W2 491 26T Bl Ie=E 360 A |
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4. Answer any four of the following questiong
in about 600 words each : 10x4=4(

o) [Ariel BIf96 eNR Ao Al Qoooﬁt i
g foogw Teq 41 ¢

(a) Discuss the scope and objectives of
financial management.

fereta #AfepIeR #ifeer o SR 960 < |

(b) Give a critical analysis of net present
value (NPV) vs. internal rate of return

(IRR).

Internal rate of return (IRR) I net
present value (NPV) I {qgo. F

SAAICEABAIETe [esae |

(c) Discuss the modern method of capltal
budgeting.

TET AT WY ~E TS e 41

(d) Identify and discuss the factors
affecting a firm’s dividend and
retention of earning policy.

451 =R T o S aRel <Rl T
@—W@WWWW
|
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(e) Discuss any two theories of capital
structure.
T RN Rl w1 3ja A<kl Al |

(/) What is inventory management ?
- Explain  the various tools and
techniques  used for  inventory

management. 24+8=10
TGO RPN 2 Mo GBS LA
& [fon wifza o= (FEryz = w49 |

(g) Discuss the forecasting techniques of
working capital requirement of a
firm.
qB1 IR DT P To1ET
GRIERIRIO BS BICRa ﬁam >4 %?—Wz
SCEDA <€l |

() Elaborate the Modigliani and Miller

hypothesis of dividend decisions.
Examine its validity.

ot o Praies (F@s Modigliani
% Miller 499 RIA DA 40 1 300
IS AT [EETe 1 |

() What do you understand by cash
management ? How can it be

undertaken ? 2+8=10
o e e aﬁw T (FEE
ST g« W 2 |

4 (Sem-5/CBCS) COM RE 5/RE 6/G 15



A company is considering to purchage

0 one of the following two computers, t},,
details of which are given below :
IR G513 VB! FTHRT TSR o[
iR R BT o1 | U5 e
e were fral TA s .

Year | Cash inflow (in. Rs.)  [Discount factor @ 10%
| Computer A | Computer B |

Ist | 20000 | 22000 | 0909

ond | 24,000 40,000 0.826 -

3 | 26,000 8000 | o7l

4th 18,000 20,000 . 0.683

Sth 12,000 10,000 0.621
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Cost of the computer A and computer
B are Rs. 95,000 each. '

FTCOR A W= IRTHR B bl eifet
I S Rs. 55,000 |

Calculate net present value and
Suggest  which one should be

purchased by the management of the
company. .



